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両辺に 222222 )()( bxax  をかけると 0))()()((2 2222222  bxaxabxba  

bax  , の条件下で、 0))()()(( 2222222  bxaxabxba の解を考える。 

 

22 ba  のとき 0))()(( 22222  bxaxabx  

 0ab のとき 02  abx であるから 

 0))(( 2222  bxax  2222 , xabx   xabxbax  ,,  

 0ab のとき 22 aabb  であるから 

 2222 , xaabxb   xaabxbbxabax  ,,,  

 

22 ba  のとき 0))()(( 22222  bxaxabx  

 0ab のとき 02  abx であるから 

 0))(( 2222  bxax  222 bxa   bxaaxb  ,  

 0ab のとき 22 baba  であるから 

 2222 , bxabax   bxabaxaabxb  ,,  

 

以上により 
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 ……(答) 


